
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der Exponenten ( Negative Exponenten )

9 + 2 =2 10 − (−5) =(−2)

(−8) − (−7) =0 4 − 4 =

9 + 1 =(−1) (−8) − (−2) =(−2)

(−8) − 3 =2 (−3) − 6 =(−2)

4 + 3 =0 6 − 2 =2

5 − 2 =(−1) 9 + (−7) =(−1)

(−6) − 5 =2 4 − (−5) =(−1)

(−10) + 9 =2 6 − 1 =

(−5) + (−10) =2 7 + (−9) =(−2)

(−9) + 3 =(−2) (−3) + 10 =(−2)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der Exponenten ( Negative Exponenten )

9 + 2 = 832 10 − (−5) = = 5(−2)

100
501

100
1

(−8) − (−7) = 80 4 − 4 = 0

9 + 1 = = 1(−1)

9
10

9
1

(−8) − (−2) = = 2(−2)

64
129

64
1

(−8) − 3 = 612 (−3) − 6 = (− ) = (−5 )(−2)

9
53

9
8

4 + 3 = 40 6 − 2 = 342

5 − 2 = (− ) = (−1 )(−1)

5
9

5
4

9 + (−7) = (− ) = (−6 )(−1)

9
62

9
8

(−6) − 5 = 312 4 − (−5) = = 5(−1)

4
21

4
1

(−10) + 9 = 1092 6 − 1 = 5

(−5) + (−10) = 152 7 + (−9) = (− ) = (−8 )(−2)

49
440

49
48

(−9) + 3 = = 3(−2)

81
244

81
1

(−3) + 10 = = 10(−2)

9
91

9
1
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